 Which of the following is an example of a positive feedback loop?
A) A neuron is stimulated, thus opening membrane channels to allow sodium ions to leak from the extracellular fluid to the intracellular fluid. This causes more membrane channels to open, thus allowing more sodium ions to enter the intracellular fluid.
B) Baroreceptors notify the brain that the blood pressure has increased. The brain then notifies the blood vessels to dilate, thus lowering the blood pressure. 
C) Low levels of glucose in the blood cause the pancreas to release less insulin (a hormone that lowers blood glucose).
D) Elevated body temperature is sensed by cells in the brain. As a result, sweat is produced, and heat is lost as the water in the sweat evaporates.
E) An auto factory produces 1000 cars per week. The sales office could sell 1200 cars per week. Extra production personnel are added at the factory to meet the sales demand.

a. 
You are eating a hot fudge sundae. The pleasant taste information is sensed by your taste buds, which notify your brain. Your brain releases endorphins, which make you feel very good. You now associate the good feeling with hot fudge sundaes, so you eat another hot fudge sundae. Now you feel even better. Which of the following statements is TRUE regarding this scenario?
A) This is a negative feedback loop because two hot fudge sundaes will make you sick.
B) This is a positive feedback loop because the results make you feel good.
C) This is a negative feedback loop because you were doing something bad for your health in the first place, and the result makes the situation worse. 
D) This is a positive feedback loop because the stimulus (eating a hot fudge sundae) and the effect (eating another hot fudge sundae) are the same. 
E) This is a negative feedback loop because the stimulus (eating a hot fudge sundae) and the effect (eating another hot fudge sundae) are the same.
D

Place the following in correct sequence from the simplest to most complex:
1. Molecules
2. Atoms
3. Tissues
4. Cells
5. Organ
A) 1,2,3,4,5
B) 2,1,4,3,5
C) 2,1,3,4,5
Homeostasis is the condition in which the body maintains:
A)  The lowest possible energy usage
B)  A relatively stable internal environment, within limits
C)  A static state with no deviation from preset points
D)  A changing state, within an unlimited range
B

Human bodies are able to maintain a certain constancy of their internal environment.  This statement
A) Refers only to the physiology of the vascular (circulatory) system
B)  Refers to homeostasis in the body
C)  Tells how positive feedback mechanisms work
D)  Refers to the direct control of cell activities by nucleic acids
E)  is not true in very old or very young humans

If a response enhances the original stimulus, the system is classified as a ______ feedback system.
A)  Neutral
B)  Polarized
C)  Deficit
D) Negative
E) Positive
E

Explain how a positive feedback loop differs from a negative feedback loop.
Jason went to school in a short sleeve shirt. A cold front blew in while he was in school. While waiting for his bus he started shivering. Jason decided to skip the bus and run home. After he started running his shivering stopped. How would you explain this?

Answer

Jason stated to shiver to keep his body temperature from falling too low. Running generated heat so he no longer needed to shiver. 

Mary has finished eating a large meal. Her blood is being flooded with sugar from this meal. How does her body prevent her blood sugar from going too high?

Answer

Her pancreas will secrete insulin. Insulin will cause the sugar to move into body cells including liver cells

During a race, the body temperature of a runner increases. The runner responds by perspiring, which lowers body temperature. This process is an example of

1. maintenance of homeostasis 

2. an antigen-antibody reaction 

3. an acquired characteristic 

4. environmental factors affecting phenotype 

Homeostasis in living things is regulated by the action of

1. the nervous system, only 

2. the endocrine system, only 

3. both the nervous and endocrine systems 

4. neither the nervous nor the endocrine system 

A structure composed of two or more tissues is termed: 
     a. organ 
     b. serous membrane 
     c. complex tissue 
     d. organ system
